ounting irv powers of 10.

1 What hawve I previously learned?
k - Represent; numbers to- 100, 1,000 and, 10,000
i - Rormar Numerals

- Thousands, hundreds, tens and, ones

- Find, 1, 10, 100, 1,000 more or less

- Partitions numbers to- 1000 and, 10,000

_ Number line to- 1,000 and, 10,000 | Counting in 10s Counting in 100s
- Compare and, olrder numbers 10 1,000 and, 10,000 365 | 375 | 365 ‘ 395 | 405 | 415 | | 2861 | 2941 | 3041 | 3141 | 3241 | 3341
- Round to the: nearest, 10, 100 and, 000 i The tens increase until 9 tens becomes one more The hundreds increase until 9 hundreds becomes one
hundred and O tens. more thousand and 0 hundreds.
I Counting in 10 000s Counting in 100 000s
l 276109 286 109 296109 306109 | 2972151 3072151 3172151 3272151
= I The ten thousands increase until 9 ten thousands The hundred thousands increase until 9 hundred
] become one more hundred thousand and 0 thousands becomes one more million and 0
] \/ocabula:\é/ - Goldilocks words ten thousands. hundred thousands.
]
| f
| Werd Defirition Compare and Order
ﬂ equals greater than less than
Neg Number less tharv zero: | 26+38=8x8
23 873 > 8256 901198 < 1091 098
P‘]’\uﬁm" A wayy C% SPW numbers into smaller P‘O’\t& to- Both calculations have The number on the left has 2 The number on the right has 1
| . . the value 64. ten thousands and the number on the million and the number on
make them easier to- works with _ o
right has O ten thousands. the left has O millions.
]
Digib The single numbers used, to represent; values irv | smallest l 898 H 6735 H 6835 H 7019 H 9002 H 11235 ‘ greatest
mathu
| Roman Numerals
Interval A range of numbers betieen two- givery numbers Rounding to the nearest 10
. 20 21 22 23 24 25 26 27 28 29 | 30
" round down round up .
two- numbers: | Rounding to the nearest 1000
I 2000 -4 7450 | 2500 =i 3000 |
Seb of numbers that followr o patkery or rule: —— rourd up
) Rounding to the nearest 100 000
G Ff‘OfT\/ te”n/ tO‘ r‘uaxi‘/ bﬂ/ 9 9 I 200 000 3249 999 | 250 000 = 300 000|

round down round up

=2 II1=3
VI =6 VII =7 VIII = &
XI=1 XX =20 XXX =30
LX = 60 LXX =70 LXXX = 80
=150 CC = 200 CCC = 300
DC = 600 DCC =700 |DCCC = 800
MC =1100 ([MD =1500 |MM =2000

'W
//vimeocom/729949387
hitpsi//vimeo.com/729950338
| httpsi//imeocom/729950632
hitpsi//vimeo.com/7299514:86
| hitps//vimeocom/729953579
| hittps//uimeo:com/729954 813
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